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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15

BfiE) | EBIETK FD) | ElE (EH/HK) | XK ERE

07:10 294 150. 0 B5| ThHA@07:10 kEIEF (KRAMEZESE)
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08:40 294 150.0 Ag| FHA@08:40 KENFEF (KAIERE)
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11:20 294 150.0 R5| TiHAe11:20 RHERF CRAEHS)
12:05 294 150.0 Be| ThiHHe12:05 REEF (KAERE)
12:50 294 150.0 RS FiHRe12:50 KREEF (REAERSE)
13:35 294 150.0 R5| TiHAe13:35 KRHIERF (RAEHS)
14:20 294 150.0 Be| ThiHfe14:20 REEF (KAEZRE)
15:10 294 150.0 RS FiHRe15:10 KREEBF (GREAERS)
16:10 294 150.0 R5| TiHAe16:10 KRHIERF (RAEHS)
249t 3528.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

FEIKRECE (2323.0 vs 4957.0) d 5
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P3-15
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P3-15

BfiE) | FEBIETK (D) | E#=E (EH/) | XK EFF

06:55 300 150.0 FH| 1Bi%@06:55 Bzh (kAMEEEE)
07:20 300 150.0 (Z=| 1Ri%e07:20 Bzh (kBHERESE)
07:45 300 150.0 (Z=| {Ri%@07:45 Bz (KRHEAERESE)
08:50 300 150.0 (2 =| 1Ri%@08:50 B (kBERSE)
09:40 300 150.0 (Z=| 1Ri%@09:40 Bz (kBERESE)
10:40 300 150.0 (x| 1BRi%@10:40 Bz (KAFERE)
11:40 300 150.0 (2 =| 1BRige11:40 Bz (GkBFERSE)
12:25 300 150.0 (B =| Rige12:25 Bz (GGkBERSE)
13:10 300 150.0 FH| 1Ri%@13:10 B3h (RABERSE)
14:00 300 150.0 FA| {Ri&@14:00 Bz (GRAEREE)
14:40 300 150.0 FB| {Ri&@14:40 B3 (GRAFERSE)
15:25 300 150.0 FH| 1Ri%@15:25 B3h (kEBERSE)
16:15 300 150.0 FE| 1BRi%e16:15 Bz (kAFERSE)
24t 3900.0 (13%) 1950. 0 3ZHREC: 2080.0, PH: 5.8

FEREHEME STEAMEARS (195.0 : 153.0), AIEEAT—@%E XAHE5
ZRIAKFREBRE153. 0 ml.

large discrepency for begining water status (314:93.0), set to 314 ml.
BEEIRECE (2080. 0 vs 4413.0) T 5
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=53 (2025-05-23)
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P3-15

BfiE) | EBIETK (FD) | EB=E (EH/) | XK R

06:25 294 150.0 (& =| 1Ri%e06:25 B (kHBHERSE)
06:50 294 150.0 |Z=| 1Ri&@06:50 Bzl (RB{EEEE)
07:30 294 150.0 |Z=| 1Ri%e07:30 Bz (GRFE{REEE)
09:10 294 150.0 FB| {Ri&@09:10 Bz (FAFERSE)
11:00 294 150.0 FB| {Ri&@11:00 B3 (FRAFERSE)
12:30 294 150.0 FB| {Ri%012:30 Bl (RAHERE)
14:05 294 150.0 FA| {Ri&@14:05 Bz (GRAEEE)
29t1]2058.0 (%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

FEREHEME STEAEARST (191.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (280:30.0), set to 280 ml.
BEEIRECE (2040. 0 vs 4493.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=52 (2025-05-22)
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cumET (ml/plant)

cumET (ml/plant)
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P3-15

BfiE) | FEBIETK (D) | E#=E (EH/) | XK EFF

06:50 294 150.0 FA| 1Bi%@06:50 Bzh (kAMEEEE)
07:15 294 150.0 (2 =| 1Ri%e07:15 Bzh (kEBERSE)
07:40 294 150.0 |Z=| 1Ri&e07:40 Bzh (GRAEEE)
09:15 294 150.0 (& =| 1BRi%e09:15 Bz (kBFERSE)
10:10 294 150.0 |Z=| 1Ri&e@10:10 Bzl (GREB{EEEE)
11:05 294 150.0 | =| 1Ri&e11:05 Bz (REB{EEE)
11:55 294 150.0 (2 =| 1BRige11:55 Bz (kBFERSE)
12:40 294 150.0 (B =| 1Ri%e12:40 Bz (GkBERSE)
13:20 294 150.0 el Rige13:20 Bal (REAEHSE)
14:00 294 150.0 RSl Rige14:00 Bz (REAERE)
14:45 294 150.0 BE| Rige14:45 Bz (REAERSE)
15:30 294 150.0 el Rige15:30 Ba) (REAERESE)
16:30 294 150.0 RE| {Ri%e16:30 Bzl (REERS)
249t 3822.0 (13%) 1950. 0 3ZHREC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (191.0 :

ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (335:48.0), set to 335 ml.

HEEIHECE (2163.0 vs 4780.0) 45




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=51 (2025-05-21)
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